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ML —/NER ZRHT 3A 12H 0.08 0.07 0.07
MILEE Z/INER FEHE 3A 1H 0.08 0.08 0.08
ML = /NVER = T 3A 26H 0.07 0.07 0.07
B YLUN==E FHAEET 38 13H 0.09 0.09 0.09
ML B/ HRET 3A 13H 0.07 0.07 0.07
ML NER 73l 3A 118 0.06 0.06 0.06
ML EE/INVER b AL BT 3A 12H 0.06 0.06 0.06
MILE I VNERR /NS IET 3A 12H 0.05 0.05 0.05
3L 5 /INVER BRI 3B 12H 0.07 0.07 0.06
ML E+/NER RcENA 3B 5H 0.08 0.09 0.08
ML /AR HH 3A 118 0.08 0.08 0.08
MILFE/NERR 75H 3A 12H 0.07 0.07 0.07
ML ER/NVERR SRHET 3A 25H 0.06 0.06 0.06
ML) /N £5)1ET 3B 6H 0.07 0.07 0.07
ML F/DER EEH 3A 138 0.10 0.10 0.10
L& H/INFER Pe 155 3R 15H 0.08 0.08 0.08
LRI/ NERRL hE 3A 128 0.08 0.08 0.08
MILBAR/INER [RiF 3R 15H 0.08 0.08 0.07
3L H SF/NE AR 1N 3A 25H 0.08 0.07 0.07
MBI/ N =5l 3A 12H 0.08 0.08 0.08
ML S /PNER THEW 3A 14H 0.08 0.08 0.08
ML IUF/INVERR HLI=F 3A 14H 0.08 0.09 0.08
3L BUR/INVERR V3 IR BT 3A 138 0.07 0.06 0.06
MALEIL/NER INIL 3A 26H 0.05 0.06 0.05
ML b /N P HEE 3A 128 0.08 0.07 0.07
MiLFBRNER EDH 3B 5H 0.07 0.07 0.06
ML E /IR =i 3A 148 0.08 0.08 0.07
I EFE —/NER BR P8 3A 26H 0.06 0.05 0.05
M B EFE /IR BELE 3A 148 0.08 0.07 0.07
ML EFE=/INER BEER 3A 11H 0.04 0.04 0.04
MmN ER NG 3A 118 0.08 0.08 0.07
MIAAIEELDOE/NER [RE 3A 12H 0.07 0.08 0.07
ML AIRINERR RAE 3B 5H 0.07 0.07 0.07
3L 78 LU /N izhy 3A 12H 0.08 0.08 0.08
ML AT ARIR/INEAR AR 3A 11H 0.09 0.06 0.06
MILKERNER +t&H 3A 12H 0.07 0.07 0.07
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